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1. 2 e feelt dear, Qe wow BE, =9, W 9 e 91 9y v e AR oW
AT eSS, HAT GeaTd e Sedieh varean e fehuei=ht rdtet sheumt Teget. qenfy argan Jefier
TG TirEE HEATRe o Rt sk U 28 i U =19 I JTeaeed aadl &1
A3ft feramon relt. Gt AieTe weEHER TERdE, ©F e s s W 9 =g e
JEATEEH Ht i H Ieft et heft eft. AIgen o e IMETE IMUR %R Teh @I
iy feer.

(1) Uehl T Tl ThT ~TEUET S 3R
(2) TR ~IE= HicT Uehl WHUAT A 3R
(3) T WEY Wil Ten feltanen s 3
(4) ! e et T TR S 3T

When I visited Dhome, I discovered that the Dhomes currency consists of four
different coins, known as zzes, nnes, mmes and hirrs. I had no idea, at first, of
the relative value of each coin. However, shortly after my arrival I was asked if
I could exchange a zzes and a nnes for two hirrs, and a short time later a similar
request involved the exchange of a mmes and a nnes for three hirrs. Based on my
encounters, select the only one of the following that can be confirmed.

(1) A zzes is worth more than a nnes

(2) A nnes is worth more than a mmes

(3) A mmes is worth more than a hirrs

(4) A hirrs is worth more than a zzes

2. IR A, B, Ca D g INETAT S SHSIel! T84 AT HUHE! ArSered! med. A, B,
C, D & TsaIreATea fe91% IR, Wt AC 31for war BD =4 Serek T 8 Wel 3R, sFadien
T 31 eI FEITd HE 3at §9 WeUua wHiqhHl Thare Wg g-al 7 tadm fhdt TR
ST A3 ?
(1) 16 @) 4 (3) 12 4) 8
Towns A, B, C and D are connected along the sides of a square and also connected
diagonally. A, B, C, D are in clockwise order. Town T is at intersection of the roads

AC and BD. In how many ways can a person starts from T in order to go to all
other towns atleast once but not coming to the place already travelled ?

(1) 16 2 4 3) 12 (4) 8
3. W P? oiftm, Q ? ‘% i), R 8 <+ Sxifaa anfor S & + <uifem, @ 50Q42R6P10S8 =2
(1) 358 (2) 348 (3) 312 (4) 320

If P denotes ', Q denotes ‘x’, R denotes +" and S denotes ‘+’, then
50Q42R6P10S8 = ?

(1) 358 (2) 348 (3) 812 (4) 320
oAl KNS SN / SPACE FOR ROUGH WORK P.T.O.
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4. O TR, Wi RETe derEee a4 Garg, Fewr= sl U Ui, R 3o
TreSte T - Rl . S wEren Gestseer geardrs g soggey vl st ale
eI T T 3919 @I, 3apte fherad Iqrew, foremeat=n adama 9 wurerTa gamwen
HUITET Tk IIFH goad. 399 Bhemg g Sata o dieid SiaRe SUHH SR e Hetit
IR GE Ht RN, d SEIeT FAATET ITANT FHUIEIS! STETEROT Idedre SAferra fBred fasfaa
HE Yehdid.

et gferarerdier 3vfie data a9 TR ST HOT JEerih! Th b Feaer.

(1) efea wad Iod TTdeATe SRR 3mhse fheTg, sHuammd! giel 3ta 3@ T

) gﬁawmaﬁ?ﬂa,ﬁmmﬁw%ﬁawmmﬁmm

g

(3) T - e arerHiT geaTd AT JSiE fhegwe geta Eee!
T Faa Tt

(4) 3P Themag <o wehre ufitew Ureees et af o WEETHRYT ARl 9 B0
S TRl

One of the important quality, high degree of self-discipline is exhibited by all

athletes who have reached the topmost levels of competition, irrespective of any

sport. This amount of self-discipline is in evidence long even though the initial

excitement of a sport has worn off slowly, and an athlete has had to keep going

through years of painful and repetitive training sessions. The example of top

athletes suggests one approach to improving student behaviour and educational

achievement. If more young people could begin training programmes akin to those

of elite athletes, they too would develop exceptional levels of personal discipline

to apply within their studies.

Select one of the following that best expresses the flaw in the above argument.

(1) Hi}%]h levels of self-discipline alone may not be sufficient to become an elite
athlete

(2) Self—iliscipline may be developed through various other activities by young
people

(3) Strong self-discipline may be a capacity already possessed by athletes when
they start their training

(4) It is not possible for general population to get kind of coaching support
available to elite athletes

5. A fre R gEara Sheft It Iwiee 6 ot TR =rera Teft, Jot ydee 3 i, T
foremm eEfiene 7 fordt anfor Fax forean SordteRe 4 forrft, <o <foene 10 foedft anfor 9t foeen
Iordiere 3 Tt wmera Tieft, R <t fora e Hivren feviem 3R 2
(1) = 2) Fhe (3) = (4) I=A
Sanvi started from her house and walked 6 km towards north, then 3 km towards
east, then 7 km towards her left and then 4 km to her right, then 10 km towards

south and finally 3 km to her right. In which direction is she from her house ?
(1) South-east (2) South-west (3) North-east (4) North-west

THeo HMTES S / SPACE FOR ROUGH WORK
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6. i TS AT Halaar Wi 9 drEner fafsheren v fghien waw qer snamn. @
fafene T fafererve atftres fopmdt s,

[=T=RRzle i) NNEEL)
350

300
250

EZOO
150
100 %
50 \
BEZIIN wfEm LLEEIK

feeten g am faam Feen

(1) g fashiqa yehar fohan witar waifys o= free smm
(2) W feshr witerd fhan WeaErt waiftes 3= e sEm

(3) R fhiqa yharl waiftes 3 fie™ g
(4) v fshiga Yphar fhar feard waifes s fre s

Study the bar chart showing the total numbers of premium and standard tickets
sold for a drama festival over three evenings. Premium tickets are more expensive
than standard tickets.

7,
//ﬁ/

B standard premium
= 350
(o]
= 300
2
2 250
E 200
S 150 S §
2 100 \ .
£ N N N
5w N s

Friday Saturday Sunday
Select the one correct statement from given options.
(1) The highest total sales income could have been for Friday or Saturday
(2) The highest total sales income could have been for Saturday or Sunday
(3) The highest total sales income was for Friday
(4) The highest total sales income could have been for Friday or Sunday

Heel BB 9T / SPACE FOR ROUGH WORK 1.0



"

La-r

6 717

7. 2 B Hehedrat 7 Y wH e e garerar s

5 2 1 1
1 12 (2) 3 (3) 3 (4) 2
On rolling 2 dice, the probability of getting sum less than 7 is
5 g 1 1
D 12 2 3 3 3 4) 3
8. fesiean g miftrshdter aTes e s,
12, 36, 80, 150, , 392
(1) 193 (2) 257 3 191 (4) 252
Find the missing term in given number series.
12, 36, 80, 150, , 392
1) 193 (2) 257 @3 191 (4) 252
9. THA-SHd AN GASAFIET W AT A Tt fafere Suere ammaa.
1-feaam fafere — v widran feasht au
3-feamm faftre — Giden feommerier ge=a wow oF feamrardt 3w
fiffesrer (dm |ww | §u T w | WR &
1-feam 417 432 440 308 319 373 526
3-feam 459 516 483 477 628 561 425
e JMBTsaTd Teart Te e v armeiean fafeher=h wen fFaer.
(1) 1476 2) 1657 (3) 1784 (4) 1974

Visitors to the theme park Gammat-Jammat have two types of ticket available to
them, as follows.

1-day ticket — This is valid on the day of issue only.

3-days ticket — This is valid on the day of issue and the next two days only.

This is a record of the tickets issued last week.

Type of ticket | Mon | Tue | Wed | Thu Fri Sat | Sun
1-day 417 432 440 308 319 373 526
3-days 459 516 483 477 628 561 425

Select the number of tickets altogether that were valid for use on Thursday last

week :

(1) 1476 (2) 1657 (3) 1784 (4) 1974

oo HIUEG! WA / SPACE FOR ROUGH WORK
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10. 42 G TEHEA WISl 7 51 FHHIShTE el T TR, T GLSTEh ST 6 9 ST ShATehar
IR, A 1 e SR 7 AR, X A g St e shHihel AR 7
1 7 2 9 3 12 (4) 13

In a group of 42 boys, Kamal is placed 7t from the bottom whereas Suraj is placed
ninth from the top. Manish is placed exactly in between the two. What is Kamal’s
position from Manish ?

1 7 2 9 3) 12 (4) 13

11. @refie e =R foum & &7 ogam 1 11 9 11 &% fioeh onga. greten femieht faum ae
AT TR 3T fedewn faamgaR S s aifdhewgsean sred Jam o 3@ ?
faam . e forn gt 3R, T B 9 IR

d S I AT, HEN I @ 1R
3131-'lﬁ: I m@wgﬁmﬁa

I1. e g ferm 3mRa.
I11. <& 91 $ol 3.
(1) I9II%mear Ad (2) 19 I e A
(3) II9 III e 3 (4) @d 3gEm 1, 11 9 11 et Jard

In a following question, 4 Statements followed by 3 Conclusions I, II and III are
given. You have to take the given Statements to be true and decide which of the

given Conclusions logically follows from given Statements.
Statements : Some seeds are flowers. All flowers are trees.
All trees are leaves. Some leaves are branches.
Conclusions : 1. Some branches are flowers.
II. Some leaves are seeds.

III. Some leaves are flowers.

(1) Iand II follow (2) Iand III follow
(3) II and III follow (4) AllI II and III follow
e hTHTETS! AT / SPACE FOR ROUGH WORK P.T.O.
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12. @refie Avfine gefaaren it o @@ 3 ?

20 12 14 6
10 3 4 6
(1) 6
(2 4

3) 3

4) 8

Which number will replace the question mark in the following sequence ?

20 12 14 6
4©25 QOZ 7©8 SOB |
10 3 4 6

Q) 6
@ 4
@) 3

4 8

oo SN ST / SPACE FOR ROUGH WORK
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13. TTHER Fewarh e g TRpar seerd. Jear et fafdne Tt fet teeft strama et i
Torclt <oh STgpedier ATt Wt 37, B eRhaT Wede arviia feeht 3R, wesirTd Sk T

9

=T U9 gt AR
e Auferdt e o e
60% 80% 90% 70% 50%
(1) 350 @) 375 (3) 500

7117

Germination rates of pea seeds vary by colour. Whenever seeds for particular
colours are sowed, one can be sure that a certain percentage will germinate. These
percentages are given in below table. Fifty plants of each colour are required for

a display.
Select the number of seeds in total need to be planted.
White | Brown Red Yellow | Black
60% 80% 90% 70% 50%
(1) 350 (2) 375 (3) 500

14. ¥ Meameh srftfearen w=r=ht 3@ Jefia = T g, Sdie T @ 376d o g @i 3.
Sl N Aeica ™ foeme, “‘Hiet IS Tee S 27 deal 9 TRare qdersmmr Sut feeh.
A : B9, HS UISHH USAAT. Wy HI T B HiFehel Sreariett Al gl
B : 81, el U8 Tsell. Wy o widt Qi eta .
C : &Y, TS T T IS ATEL 901 A J Hier o weheq Jrganet ot ke,
(1) & T B qRHe Irearel Tot g (2) A Y e faen yeew srgare gt e
(3) I WA IS IS TR (4) I THEl AT
Inhabitants of Lote always reply stranger’s question with two sentences :

One is true and other is false. When visitor asked, “Did it rain yesterday ?” three
residents replied as follows.

A : Yes, it did rain yesterday. But B went for the cycle ride last night.

B : Yes, it did rain yesterday. But then I never lie.

C : No, it did not rain last night. But A completed her project report yesterday.
Select one option that is logically correct with respect to above replies.

(1) B went for the cycle ride last night (2) A completed her project report yesterday
(3) It did not rain last night (4) None of these

THooH] HIAEEI SR / SPACE FOR ROUGH WORK P.T.O.
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15. YEiat gfaarg reman i (31) 9 () 31 fepmn S searand! feeiean i STasn Sierert

EICRECE

YETrAT e Mo oA S ieiell T ke oA dagh of& <ot 3Ty

TARBMEY ITERIE JraTede ayfad IU™ YT W& J61 =2a- W, Hewrel e

IR TSdict A1a YRR TE all, AT TEEER IO G TR 3T 3 geshEl /2 /A
(3) BI5eT. Wunetrean sifoes wigaeran g i faeneate gwrd sie

. Sergwnd, ¥ faameate awen IfRR, el SRR wieAT SRSt B
() :

(1) geter FmEE et 3 afvrm ges FH

©2) Tt el U 9 i T s

3) et |l 3R 9 Te feeadd

(4) TBHIE HU § SIS J TNUTH FeThl HLTd

Study the following argument and select the pair of expressions from given options

for filling the respective blanks (a) and (b) of the argument.

The execrable state of the city’s public schools certainly demands immediate
attention, but it is important that our remedies be thoughtful and comprehensive.
While appropriate measures of teacher performance and subsequent accountability
will undoubtedly play a vital role in revitalizing our schools, it would be

(a) the many other factors at play, factors as widely divergent

as the system’s deteriorating physical capital and student’s home lives. Even

the most talented teachers are challenged, for example, to (b) of

an unstable or abusive home environment on a student’s ability to learn.
(1) A solution to ignore and exacerbate the influence

(2) A panacea to solve and terminate the effect

(3) An error to neglect and exacerbate the influence

(4) An error to neglect and mitigate the effects

THoeAl BN SAFT / SPACE FOR ROUGH WORK

A
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16. SN o5 :
e WIS STHE T (%)
3. IR 9§ I. 25
5. fum I 91
%. frenfie wfskan . 9.8
3. A HEU T IV. 60.1

T W

H C) < 3
QO IV I [ I
@ IV I 1 I
@ I I Il IV

4 o I1v I III

Match the following :

Source of Carbon Monoxide Percentage (%)

a. Motor vehicle 8
b. Aircraft IT.
c. Industrial process II1.
d. Agricultural waste burn Iv.

Answer options :

a b c d
1 v 1 I II
2 Iv I I 11
3 I I III 1AY

49 o v 1 I

2.5
9.1
9.8
60.1
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17. WA SHIOET 2011 FHT Eieie feaaen e ThUl Ashae YHI0 3atdl HH @,

12

3Tl
R
e

T R
3. EEm

Tatd I

Sl o &

Z117

(1) A, 96,38 (2 F,I3AE 59397 @) 953 A%

Arrange the following districts in descending order in terms of their total
population as per Census of India 2011.

a. Akola
Chandrapur
Beed

Latur

e o T

Satara
Answer options :

(1) a,bc,e,d (2) cebda  (3) ecdba (4) b,e d ac

18. @refieidshl shivrdt faem sUet ea ?

3. WERISE 73° Q@ o 74° 99 {@IGATSR HHT IHE g8l
§.  qUi-ST WA $A WG IS gedl.
%. firet Yan S5 v fegm wt angq.

qarEf I
(1) faum 3t anfors ) faum s anfor=
3 foum= (4) fyum a1, 9 onfr %

Which of the following statements are correct ?
a. There is less rainfall on 73° East to 74° East longitude in Maharashtra.
b. Wardha-Wainganga basin receives rainfall from North-East monsoon.
c. There are less rainfall days in Chandrapur than Miraj.
Answer options :
(1) Statement a and b
(3) Statementb

(2) Statementb andc
(4) Statementa, bandc

ot HHEE AT / SPACE FOR ROUGH WORK
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19. HERTSIS qéieryeht i feasliqy siFamsed Ieaie gact S ATél ?
H., IER T et
¥, whicaTqL g |rTet!
%. I g TATS
T, T & fayggt
QR I ;
(1) A% (2) o % (3) | H Hed (4) TwF
Which of the following districts in Maharashtra does not produce bauxite ?
a. Chandrapur and Gadchiroli
b. Kolhapur and Sangli
c. Thane and Raigad
d. Ratnagiri and Sindhudurg

Answer options :

(1) aonly (2) bonly (3 bandconly (4) donly

20. RIS gegl gdardiel Rat=n IgER S Iatdr s ST 3R ?
(1) TEEBTR - TGS - el - awght
(2) WEESYE - Hledl - Fayht - wlwszme
(3) WeR - AEESYR - FAPh - FiwgTe
(4) HeR - TEERTR - elvEgTe - g
Which is the correct descending order of height of Sahyadri Mountain Peaks of
Maharashtra ?
(1) Mahabaleshwar — Harishchandragad — Salher — Saptshrungi
(2) Mahabaleshwar — Salher — Saptshrungi — Harishchandragad
(3) Salher — Mahabaleshwar — Saptshrungi — Harishchandragad
(4) Salher —- Mahabaleshwar — Harishchandragad — Saptshrungi

ol HIHTETE AR / SPACE FOR ROUGH WORK P.T.O.
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21. TierEd T 3 HEwgreAr v Wiiiferss st 8 AU IR,

(1) 25% (2) 80% 3) 49% (4) 60%
Godavari river covers area out of total geographical area of
Maharashtra.

(1) 25% (2) 80% 3 49% (4) 60%

22, WEWISE TSATAT VAT YREATE geeel Atfavry e 31g S
(1) 1y fafdy Gewmma s R
(2) I NG &I ESh HIS YOG @B
(3) & [FT A WSHIGT S 3R
(4) 0 S[ATTS T A I
Part of the state of Maharashtra is geologically very strong because
(1) This terrain is made up of different rocks

(2) Metamorphic rocks are found in abundance in this terrain
(3) This terrain is made up of ancient rocks

(4) The balance of this terrain is equal

23. WicAicTdeh! IV TatiT THel & ardl @R Al Seifaveies 118 7

1) awEe @) fa= (3) wWE (4) w@g
Which mountain range is the water divider between the Narmada and Tapi Valleys ?
(1) Aravali (2) Vindhya (3) Sahyadri (49) Satpuda

24, TR WIS el Wieiie faummer femm =,
9. Y TER 9UhE @ IR,

Tt W ;
(1) AR IIH (2) 3 H T TUH
(3) A T (4) = TH

Consider the following statements regarding the creeks in Maharashtra.
a. There is Dharamtar creek on the river Patalganga.
b. Bankot creek is located on the river Shuk.

Answer Options :

(1) acorrect b wrong (2) a wrong b correct

(3) Both are correct (4) Both are wrong

FHoH HHEE! W / SPACE FOR ROUGH WORK

A
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25. WERISErdier anfifes uol=r & wiefires favm T 9 e @,
o - 1 i - 11

(T3 fovwam) (e wt= (R 1))

A, i i 77

. HEY AEAISE ii. 100

®. WIEars! iii. 92

g, foed iv. 287
TRt S

H C} ED k=

1 i i § v
(2) iv 1 i ii

(3) iv i i i

(4) #i v ii i
Match the annual rainfall and regional division of Maharashtra.

List -1 List - II

(Regional Division) (Annual Rainfall (c.m.))

a. Konkan R ]

b. Madhya Maharashtra ii. 100

c. Marathwada m. 92

d. Vidarbha iv. 287
Answer Options :

a b e d
1) 1 i il iv
2 iv i i ii
@) iv i i i
4) i iv i i
FHoed| IS SAFT / SPACE FOR ROUGH WORK P.T.O.
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26. Wl JUHTEE TUSHIRS L.

9. giiSTgen TReor T 9 go AN GG T Hel.
%, ‘qTE Rror seRe HewrHl T el
3. TEHEE 9 U A1 TN S ol
qaid S
A q * t
(1) Tures gl HHAR WIS TATA! VTG HERTS SN WS
Lt RIGicH
(2) HHER TR Mures &8 TS HENS AT WG FERS
T Gl
(3) AU g WERS TS HER HHAR WIS e &7
e LSt
(4) TS TERH BATH WIg WA T B FHAR I
e RiGiS]

Identify the social reformers from the following description.
a. Started ‘Infantry School’ to provide military education.
b. Founded ‘Gorakshan Sanstha’ in Murtijapur and ‘Vriddhashram’ in Pune.
Established ‘Dudhgaon Shikshan Mandal’.
d. Wrote the books Laxmi Dnyan’ and ‘Gramrachana’.

Answer Options :

a b c d

(1) Gopal Hari Karmveer Chhatrapati Gadge
Deshmukh Bhaurao Patil Shahu Maharaj Maharaj

(2) Karmveer Gopal Hari Gadge Chhatrapati
Bhaurao Patil Deshmukh Maharaj Shahu Maharaj

(3) Chhatrapati Gadge Karmveer Gopal Hari
Shahu Maharaj Maharaj Bhaurao Patil Deshmukh

(4) Gadge Chhatrapati Gopal Hari Karmveer
Maharaj Shahu Maharaj Deshmukh Bhaurao Patil

ool HIMETE! AT / SPACE FOR ROUGH WORK
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27. WISACIeh! SHIVHIVTET SaRA-T TR § Jqh-AiT TIfSa <3 anare) o= Jarme
FH FA B ?

3. YIER MBS

. i Iy s/

. 7AW ged, e wdim

T. WIERAT HiSH

T W
(1) 3 3nfr § B

(2) ¥ AT % Bad
(3) 31, 9 M1 % Ferd
(4) 9, % 31§ B

Which of the following persons did the work of spreading communist ideas by

supporting the workers and farmers ?
a. Muzaffar Ahmed
b. Shripad Amrit Dange
c. Ghulam Hussain, Singarvelu Chettiar
d. Maniklal Kothari
Answer Options :
(1) aandbonly

(2) b andconly
(3) a, band conly
(4) b, canddonly

THeehl hIMMIE! AT / SPACE FOR ROUGH WORK ] P.T.O.
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28. SIS A4 ;

T it
sift@AyR 3 f3eun

HA. 1890 hefehdl

. 1891 AT
%. 189570

8. 1897 ITEt
TR IW

A 9 @ 3
(1) I Iv. II 1II
(2 I I v 1I
@ I mI 1 1Iv
4 Iv 1T III I

Match the pairs :

The Sessions of National
Congress and Place

a. 1890 Calcutta
b. 1891 Nagpur

c. 1895 Pune

d. 1897 Amaravati

Answer Options :

a b c¢ d
1) I Iv II 1III
(2 I 1 v 1I
@ I m 1 I
4 IV 1II HOI I

18 717

I. 3THeT =Te],
I1. I ARR

I11. fRTET Agdn
IV. Gl st

President

I. Anand Charlu
I1. Shankaran Nayar
II1. Pherozeshah Meheta

IV. Surendranath Bannerjee

HoA! HMHEE! ST / SPACE FOR ROUGH WORK

A
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29. Wil foeRues TANGERS 3@l

A 3. 9. 1920 T wed wEen Mefsien stegdart ARee wRdie sregvaar fares
ftyg Bt

9. @ g IR I T Fifiaa.
%, o e wder forle e

8. @ sig gt R &1 o fafeen.
TR I

(1) e B s

(2) MU STET TEATH

(3) foger T i

(4) . SEERY AEEH

Identify the social reformer from the following description.

a. He organised the Akhil Bhartiya Asprushyata Nivarak Parishad under the
Presidentship of Mahatma Gandhi in 1920.

b. He declared I am Buddhist.
c. He opposed Murali Pratha.
d. He wrote article Bouddha Dharmacha Jeernoddhar.
Answer Options :
(1) Kisan Faguji Bansode
(2) Gopal Baba Walangkar
(3) Vitthal Ramji Shinde

(4) Dr. Babasaheb Ambedkar

FHoedl BT W / SPACE FOR ROUGH WORK P.T.O.
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30. Weiiedeh! S faam /3 st g /q 7

TS G ATER ARSI SETEETe A86 JH1 ST JUSae 36 T8 hel.
sfiare 3T TM § AU T 1925 HEA RAT AaTe) qeTeit TG Shatt,

T T AT T S YT I S QReiieRe aél wumea agurT 8.
SRISERTST TRV i {Sahet SHshieh TISTET ST hetl.

i IR

(1) e 31 ST 3R
(2) 31 M0 § Sl SUST 3T_A
(3) 31, § a7y & SO 3R
(4) o T SO AR

o S a 9

Which of the following statement/s is/are correct ?

a. At the Lahore Session of the National Assembly, Jawaharlal Nehru made it
clear that he was a Socialist.

b. Shripad Amrut Dange and others founded the Communist Party of India in
1925.

¢. Ram Manohar Lohia and Achyutarao Patvardhan were involved in the

formation of Congress Socialist Party.

d. Jayaprakash Narayan established the Radical Democratic Party.

Answer Options :

(1) Only a is correct

(2) Both a and b are correct
(3) a, band care correct

(4) Only d is correct

HoAl HHEES FRT / SPACE FOR ROUGH WORK

A
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31. AT S e
3. Tawamy TR Aefoe 1. foorft wwran
9. gl Tl I1. ST
%. Tiifeg fage He I11. §e S@aR
g Hfiuwe B V. Afea anfafrm
i I :
H 9 @ S
1) I I IV I
2 Iv IO I I
® I v I 1
(4 IV I II 1

Match the following pairs regarding the news papers :

a. Vishvanath Narayan Mandlik I. Vijayi Maratha

b. Suryaji Krishnaji II. Prabhakar

¢. Govind Vitthal Kunte III. Mumbai Akhabaar

d. Shripatrao Shinde IV. Native Opinion

Answer Options :

a b
1) mI I
@2 Iv 1I
G I 1
4) Iv 1II

c d

THESAT HATETES JART / SPACE FOR ROUGH WORK P.T.O.
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32. Sire &ET

A, TH. U HorHoll bt wrefiet
T BEh

q
%, A LA B
g, Toamor et
T IW

H d ©h g
(1) I 1v I II
@ IV II I I
@ I IV I T1I
4 1II I IV 1III
Match the following :

a. H. A. Kulkarni Murki Bhavikar
b. Mama Phadke
¢. Anant Laxman Kanhere

d. Chintaman Kulkarni

Answer Options :
a b ¢ d

() M IV I 1I
@ IV In I I
(3 I IV I I
@ U 1 IV I

22

I. afiFE Ra S
I1. Tregor for |
II1. Rrawh ww

IV. 3NTER Tl #78a

I. Abhinav Bharat Vachanalaya
II. Gorakshan Mitra Samaj
III. Shivaji Club
IV. Aurangabad Gupta Mandal

717

33.

1893-94 TTIH HaTe TSGR el HUM T@y@e = v BR 3iies’ a1 frdere gdierash!

it fafeht ?
(1) = T
(3) nfag =

During 1893-94, a series of articles, titled, ‘New Lamps for Old’, criticising

moderate politics were written by
(1) Justice Ranade
(3) Aurobindo Ghosh

(2) <a o
(4) Gy St

(2) Lokmanya Tilak
(4) Surendranath Bannergy

HoAT HHEES! ST / SPACE FOR ROUGH WORK

A
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34. SIS A
A gHHRq 1. fauan foag veadia wri
T M IT. forso sa sreramdt Froer fesm
%, geEwhE II1. wres 3or fodereh gemamdt § omr faw
8. HS IV. ST 99 J@9a
T IR ¢

H q & k4
O IV I I I
@ I IV I I
@ I I IV II
(49 I 1 IV II

Match the following :
a. Dhoomketu I. Work for widow marriage movement
b. Induprakash II. Criticism of Vishnu Buva Brahmachari
c. Subodhpatrika ITI. Slavery and British oppression are the subject
of writing
d. Kal IV. Mouth piece of Prarthana Samaj
Answer Options :
a b ¢ d
1 Iv m 1I I
2 I 1v 1 I
3) OI I IV 11
4 I I Iv 1III
FHoedl HHME! S / SPACE FOR ROUGH WORK P.T.0.
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35. @refid foeumes wsis Ao 9 I gaig e

. JaaHTEAT T GUeid TEATT Bl
¥, diES IBEN A Bt
. UIBHE Sgh TR FAUATE] HIEHT HEUITE FI Hal
T, IHUSH T qeeE Jat g
it IW
A | & T
(1) AT gEuay et e RIS A EC
EISE st LCIISTERy wIe
(2) weifvE feswe HIHETR SHTEH JENTaH LIRS
St G| | Eay EISE| [CRES
(3) wgERE SHIE JESRH weriE e FHRETRS
LGRS e EIN] C I
(4) SHIGT JENRE GG werie Fese HIEHITRS
EIEC] LGl RE] St [C|IKGETY
Identify the revolutionary from the given description and select appropriate
option.

a. Involved in Yavatmal's Secret Organization

b. Led the uprising of Beed

c. Attempted to set up a gun factory in Nepal

d. Was the central leader of Amaravati Secret Organization
Answer Options :

a b c d
(1) Janardan Sadashiv Kakasaheb Dadasaheb
Purushottam Nilkant Khadilkar Khaparde
Vajane Joshi

(2) Sadashiv Nilkant Kakasaheb Janardan Dadasaheb

Joshi Khadilkar Purushottam Khaparde
Vajane

(3) Dadasaheb Janardan Sadashiv Kakasaheb

Khaparde Purushottam Nilkant Khadilkar
Vajane Joshi

(4) Janardan Dadasaheb Sadashiv Kakasaheb

Purushottam Khaparde Nilkant Khadilkar
Vajane Joshi

oAl HHTES! SN / SPACE FOR ROUGH WORK
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86. TG AT Fhiel BHY hIvTeT el GR Teeft ST 2

(1) wfemde 2) T el

(3) RIS Gt (4) AT Tl

Through which of the following provisions, the citizen are guaranteed their
rights ?

(1) Constitutional provisions (2) Regulatory provisions

(3) Legal provisions (4) Judicial provisions

37. ‘7 T T T I AN SIS Al

‘H e T M

. . Tg TR . Wge gide Tene

¥, @l WET%T!T TSR i, Gfaum g ey

% . W@ iii. YA gh fowae Qi aTerd

3. Tl wee iv. dfqum a¥e wre v geamm
R IR ¢

(1) o —iv, & —iii, % —ii, T —1i (2) 3 —iii, & —ii,® — 1,8 —iv

B) I—-i,¥§—1,% —iv, 8 —1ii 4) A-1,9—iv, & —111,8 —1i

Match the pair from A group and B group :

A Group B Group

a. Dr. Rajendra Prasad i. President of Drafting Committee

b. Dr. Babasaheb Ambedkar ii. President of Constituent Assembly

c¢. B.N.Rao iii. President of Fundamental Rights Committee

d. Vallabhabhai Patel iv. Legal Advisor of Constituent Assembly
Answer options :

(1) a—iv,b—iii,c—1,d—1 (2) a- iiib—iic i, d—1iv

B) a—ii,b—-1,¢c—1iv,d—1ii (4) a—1,b- —1il, d —1i

38. UNUAT SR a1eet I, Ig Fohen wmer Stspuor fohan avre 3@ WRareA foham WRaT=n il

TR GURTAaeTT TRt Gieh! faiur Sier 31 @ & TsTee-= 3w HHih A
Tqut wRaTa fhar wrare S wra anvfiemlt STER S sk

(1) 123 (2) 352 3) 72 (4) 359
Under Article , the President may proclaim a state of emergency in

the whole or part of India if he is satisfied that a grave situation exists whereby the
security of India or part of its territory is threatened by war or external aggression
or armed rebellion.

(1) 123 (2) 352 3 72 (4) 359

THeeH] HIHTETE! SN / SPACE FOR ROUGH WORK P.T.O.
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39. YRR TSTu=AT fhdean YT oy JARARIET TR SHUard STl T8 7

(1) gl (2) =

(3) fom=n (4) e

In which Section of the Constitution of India has Fundamental Right been
included ?

(1) First (2) Second

(3) Third (4) Fourth

40. R TSToAdT Hem 36 @ 51 TAR SFEeiel TSl Avieeis acd Jresedt geier faumisht
Ay faum faer

¥, HEEUEAR L.
%, ififh SHaER™ STEITI HOA WA,
3. SN IS ST GEH.

QI
(1) JFamfors (2) «anfrs
(3) ®Hamfre (4) T oamfra

According to the Indian Constitution in Article 36 to 51 of Directive Principles of

State Policy, find the incorrect statements about it from below :
a. Uniform civil code for citizens.
b. Equality before law.
c¢. Freedom to manage religious affairs.
d. Participation of workers in management of industries.

Answer Options :
(1) aandb (2) bandc
(3) candd (4) danda

THeHT HIHEE AT / SPACE FOR ROUGH WORK

A
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41. 71 S HSAGER HEG, 1992 GR AR WGUMHT=A1 See TRRIEHE Qeffaehl Hivr
WIST SISWITd e ?

3. il
w, wfgl
%, A
5. faeft
T IW
(1) $RA, T, % (2 HRA,T,T 3) W}, 5,8 (4) W, 5, S

Which of the following languages were added in Eighth Schedule of Constitution
of India by 715t Amendment Act, 1992 ?

a. Konkani

b. Manipuri

¢. Nepali

d. Sindhi
Answer Options :

(1) Onlya,b,c (2) Onlya,b,d (3) Onlya,c,d (4) Onlyb,c, d

42. WA SR FeearE RO BT FHe 24 H HeIgeRN HRG THA el ?
MRS Gl

et firew @ean

. hIEFE W el

Sehil TG @edt

Tlerteh! v T /faem sl amRa 2

TarEft I

(1) 3 B (2 &, Far s &R (3) & MM S HR  (4) T 3T § et
Which of the following case gave birth to 24th Constitutional Amendment ?

a. Golaknath case

b. Minarva Mills case

¢. Keshvanand Bharati case

d. Shankari Prasad case

o 8 a4

Which of the statements given above is/are correct ?

Answer Options :
(1) aonly (2) b,canddonly (3) banddonly (4) aandbonly
HoeHl HIEE J / SPACE FOR ROUGH WORK P.T.O.
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43. Ho I T WK AFTREIST hIVTATe! Saar ST fham hivfarg e,
SR feha IeT o= g 3R,
(1) 3423 (2) 239HAH
(3) 81 (1) (M (4) 19 (1)
Under Article every citizen of India has the right to practice any

profession or to carry on any occupation, trade or business.
(1) 342 A (2) 239AA
(3) 81(1)(B) 4) 19() (e

44, TS foum g e
3. i ubmes ¥ e Faden SEeer 7.
§. Ui well SR hgrdiel WAl YgrEt Ug Wehdrd.
%, ot seEEeHid smee e Tsgadi Sofau davume Sder IR,
alterdeht hivra foer/faum e ama ?

QI SR
(1) wF A (2) «a3mfr s
3) JAamfr= (4) wd

Consider the following statements :
a. The Council of Ministers in the centre shall be collectively responsible to the
Parliament.
b. The Union Ministers shall hold the office during the pleasure of the President
of India.
c¢. Itis duty of Prime Minister to communicate to the President about the
proposals for legislation.
Which of the statements given above is/are correct ?
Answer Options :
(1) Onlya (2) bandc
(3) aandc (4) All

ool HIHTHS! AR / SPACE FOR ROUGH WORK

A
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45. WRARIS AfavaTdeyieh SUSTHEHIT Weilel fau™ S&d =

AT .

¥, JAfavardeyis 30T 8 Has ARauned Higdr IAdl.
Flicet S e/ faam fomes amga 2

g IW
(1) % A (2) ®F T
(3) T (4) SO RIURE T

Consider the following statements regarding a No-confidence Motion in India :

a. There is no mention of a ‘No-confidence Motion’ against the Union Council
of Ministers in the Constitution of India.

b. A motion of No-confidence can be introduced in the Lok Sabha only.

Which of the statements given above is/are correct ?
Answer options :

(1) Onlya (2) Onlyb
(3) Both (4) None of the above

46. ST JH Foe< 2018 =1 JAFTTATER WRATHE STTdiet TR SUSTIR
(1) 9.49 (2) 10.49 (3) 11.49 (4) 10.91

According to International Labour Organization Report 2018, India has
per cent of world’s unemployed population.

(1) 9.49 (2) 10.49 (3) 11.49 (4) 10.91
47. 1991 AT FAS WA referae=t T & T3 TIE HeAl ITTR.

(1) umIises qade g4 (2) a1 gLl
(3) Ty =R s (4) WA gh
The growth rate of the Indian economy in the post 1991 period has been led by
(1) Social sector growth (2) Service-led growth
(3) Foreign trade growth (4) Tourism-led growth

THooHT RIS SR / SPACE FOR ROUGH WORK P.T.O.
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48. @refia fagm fe=mra =,
A, 73T T4 T AT G HRIGM LRI TS GEAHT HEATHb Gll fa.
¥, Ueitg Mt TeeE SRt SAREE R 1Yl ST Tede ATl shvarEst
e Hel.
%, Tolig et TERE AvEiehr JTNEE AT T5T GUhR TR 3R,
et i/t frem /3 set s /3med ?

it I
(1) semfors (2) «amfr=®
(8) ®H ® (4) foh foum sst amga

Consider the following statements.

a. The 73" and 74tk Constitution Amendment Act provides constitutional status
to the Panchayati Raj Institutions.

b. The Rajiv Gandhi Panchayat Sashaktikaran Abhiyan (RGPSA) was launched
to strengthen Panchayats across the country.

c. RGPSA is the State Government sponsored scheme.
Which of the above statement/s is/are correct ?
Answer Options :

(1) aandb (2) bandc
(3) Onlyc (4) All the three statements are right
49. T TThe TS

3. o7sft 9 f Seren SHEER el .
¥, U1 9NN 3Ted qediEt e s wraeft sara s el feeft sara.
%, <91 ARG 4 gediEt e S vaeft S anfor w5t feht SramE.
3. U FGER YT AYH HOMW TR
i IW
(1) BRI AN S (2) FRTINMNF (3) HR T (4) R A
Money market means
a. A place where money is dealt with.
b. Market in which short term funds are borrowed and lent.
¢. Market in which long-term funds are borrowed and lent.

d. Occasional markets to transact money business.
Answer Options :

(1) Onlyaandb (2) Onlybande (3) Onlyb (4) Onlya

el HIHTETS! AT / SPACE FOR ROUGH WORK
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50. TYUt FTHIOT TRISATR FSHT hees TR Tsaeft S,
(1) v=rd TS S
2) wEf-Eer TR
(3) fora WA, g W
(4) Tam e, TS @R
The Sampoorna Grameen Swarozgar Yojana is implemented exclusively
through
(1) Panchayat Raj Institutions
(2) Public-Private Partnership
(3) Ministry of Finance, Central Government

(4) Ministry of Finance, State Government

51. T GETNe Ao THOT TEre 22.8 T SEIRE & B gEN
SHUTRTE B,
(1) dTEH VT BIEB
(2) wmIRER &
(3) wfeel-dEE
(4) e

The sector came second with allocation of 22.8 per cent of total outlay
of 100 five year plan.

(1) Transport and communication
(2) Social services
(3) Information technology

(4) Small scale industries

o] HIMTEIS SN / SPACE FOR ROUGH WORK P.T.O.
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52. =T UEiNes A EIRCNU R A G IR
(1) e faww (2) i fawmm amfor gaft
(3) T e wwar (4) wvea faw@
The fourth five year plan was given special focus on
(1) Growth with stability (2) Economic development and growth
(38) Growth and equity (4) Sustainable development
53. THS TEEINh AeHeAl HREUHe) Heree @ SfeHHTd IR W feeren .
(1) g 3= (2) o 3T
(3) wfeeli-das= e (4) WTSTE S ATIOT T[aavfeh a5
The Mahalnobis model adopted at the formation of II five year plan, emphasized
on
(1) Small scale industries (2) Rural industries

(3) Information technology industries (4) Capital goods and investment goods

54. wErArTH T aefior PR gt Sensiaia e Asrieea wieftetsht Sivd faam
A 3 7
(1) auiq 100 feam avfior ey sertE USTTR fresat
(2) @i 100 fea@ a0 et e AR feresar
(3) =uig 100 feam anfior srpvet HEaTe T e sreRia U firesqt
(4) T 100 fesa amfior srgperer FHgardier e =Rt USPTR frear

Which of the following statement is correct regarding Mahatma Gandhi National
Rural Employment Guarantee Scheme ?

(1) Employment to unskilled rural person for 100 days in a year
(2) Employment to unskilled rural family for 100 days in a year

(3) Employment to one adult person in an unskilled rural family for 100 days in
a year

(4) Employment to adult persons in a rural unskilled family for 100 days in a
year

FHeedl HIUTHTSI A / SPACE FOR ROUGH WORK
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55. BT ISd HIVeT SISt e H0 S S A8l ?
A, Tige qadl HH w0
¥, SUSTIR UTdes! hifl o
®. T Sl qredt
. TGhH FeHTET |9
Tt I W
(1) T 3 2 Fanfors (3) w s (4) Ikt T

Which things could not be achieved in tenth plan ?
a. To reduce poverty level
b. To reduce unemployment level
c¢. Gross domestic saving level
d. Foreign exchange reserve
Answer Options :
(1) Onlya (2) aandb (3) bandec (4) All of the above

56. WRATAE 2019-20 TOAH THUT THENN slaadi=an sammEa @efta a1 &are qievfl sewn
A .
. EETS AR
¥, wfedt ST SR

%. I IECH
T, o
T IR

(1) 3,9, HAE (2 §FqM37 (3) F,d A (4) H,8 A
Arrange the following services sector in ascending order regarding the inflows of
Gross FDI Equity during 2019-20 in India.

a. Air Transport

b. Information and Broadcasting

¢. Sea Transport

d. Education
Answer Options :
(1) a,b,candd (2) d,¢c,banda (3) c¢,b,aandd () c¢,d,aandb

ol RMEIS W / SPACE FOR ROUGH WORK P.T.O.
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57. @refir faam femma =0

. 3w ad 2021 ned wEwS Wt yrfieRt geaie afirdi= 07 Sehearst
farera et

T, A7 07 Thedidhl, 03 1 AT Wohed, 02 FeX ST Fohed T 02 TLEAR
ST IeT Weheq 3TTRA.

Tt o/ fur/ st /a7
T W

(1) e 31 SO 3R

(2) = 31 3P § SV ARG

(3) e § SUEL 3R

(4) s THE ARl

Consider the following statements :

a. During the financial year 2021, Public Private Partnership Appraisal

Committee recommended 07 projects.

b. Out of these 07 projects, 03 are railway sector projects, 02 are port sector

projects and 02 are telcom sector projects.

Which of the statement/s given above is/are correct ?

Answer Options :

(1) Only a is correct

(2) Both a and b are correct
(3) Only b is correct

(4) None of the above

THeeH HIHEE! ST / SPACE FOR ROUGH WORK
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58. Wiefier faum fommm =
3. URd SRA 2001-02 72 her T et I gE et
9. Paa U mgmnTeal fammmad! it aehiadt Wit s i e fE

FISHT & et
Flieeh S /d fam/A 9 am/q ¢
T I
(1) Q=2 3 M § A 3Mea (2) wF N AT MR
(3) T & AW AR (4) T e

Consider the following statements :

a. Government of India introduced Central Road Fund Scheme in 2001-02.
b. Only for the development and maintenance of national highways Government
of India introduced Central Road Fund Scheme.
Which of the statement/s given above is/are correct ?

Answer Options :
(1) Both a and b are correct (2) Only a is correct
(3) Only b is correct (4) None of the above

59. wrefie faum fommma =0
., YNd GHRT gL 2021 ALY AET R 9o g hal.
W, TEY YIRA U acaiia semmief gefta ang.
T SR /A R/ 9% FR/a ?

g I
(1) <rE 31 anfor o <6 IR (2) e 3 Th AR
(3) % ¥ IH AR (4) et Thd < e

Consider the following statements :

a. Government of India the Lakshya Bharat Portal launched in
September, 2021.

b. The Lakshya Bharat Portal related to Inland waterways.
Which of the statement/s given above is/are incorrect ?

Answer Options :
(1) Both a and b are incorrect (2) Only a is incorrect
(3) Only b is incorrect (4) None of the above is incorrect
HoH! HATETE! AR / SPACE FOR ROUGH WORK P.T:0.
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60. T Gl Yool [EvaETdET St S U T G HOATT ATl

(1) 3Re 2018  (2) MW= 2019  (3) Wi 2020 (4) uhet 2018

Jal Jeevan Mission envisaged to provide adequate safe drinking water was
launched in

(1) August 2018 (2) August 2019 (3) April 2020 (4) April 2018

61.

VR TR SR TR Ired i geeta g,

(1) 373 Yg@ e (2) qe&w, < 0T weAw I

(8) @t 3f Ie@eH 3T (4) Rt wd

The CHAMPIONS online portal of Government of India is related to

(1) Eight core industries (2) Micro, small and medium enterprise

(3) Mining and quarrying industries (4) All of the above

62. TR &M 20307 ufhguR, Herserder armg gigwifawh Ercfiersht v gee

3R ?

. foega Savda werft 8= JreE — 50.8%

7. gfa fft arsften wenadie aga @@ — 93

%, AW fammdet s — 4

g, fagaffifh smaa siferes 39t @ JieA - 17.8%

TR W
(1) 2,9, Hanors (2) 3, ® M H
(3) = I g (4) 31, 93T e

Which of the following points about infrastructure in Maharashtra is correct, as
per ‘Vision 2030’ document of Maharashtra ?

a. Private sector contribution to electricity — 50.8%

b. No. of vehicles per km road length — 93

c¢. No. of international airports — 4

d. Contribution of thermal energy sources to generating capacity — 17.8%
Answer Options :
(1) a,b,candd (2) a,bandc
(3) Onlyaandb (4) a,bandd

THEAT BTG AN / SPACE FOR ROUGH WORK
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63. WelicTieh! shIort Tehifeires 3ol farepr et 3fese amda 2
. foaw s ave O
9. ST e S et
. I AR AT Wi -qEHET ST S
Rt I
1) FAIrawe (2) I wR (3) IO HHR (4) AU T
nglll:;!él off the following are the objectives of Integrated Power Development Scheme
(fl. Slrengthening distribution network

b. Providing subsidised power to farmers

c¢. Use of information technology in power distribution sector
Answer Options :

(1) aandbonly (2) bandconly (3) aandconly (4) Allof these

64. ‘32 W N W AU AU ISH' E A T & HOI e
(1) I=. 2016 (2) 3. 2016  (3) Ti=. 2016 (4) f&H. 2016

‘Ude Desh Ka Aam Nagrik’ (UDAN) scheme was launched in
(1) Sept. 2016 (2) Oct. 2016 (3) Nov. 2016 (4) Dec. 2016

65. @refier faum feemma =0

3. WRAHATAT IRISHET 8 ohg, TR AT T GLhRIgR TSfudTa JURT Hexaresis
TR gfaen SR IR,

9. Hd gehrw drerdt "ut i da YR Teret o YeheqieT WRAHTS TR ST
TR, .

Rl v /A faam /A 99 aR/a ¢

TR IR

(1) *ae 7 999 AR (2) o 7 I § I IR
(3) Ha & AT IR (4) el AT
Consider the following statements :

a. Bharatmala Pariyojana is an ambitious infrastructure programme being
implemented by Central Government and State Governments.

b. Sant Tukaram Palkhi Marg and Sant Dnyaneshwar Palkhi Marg Projects
are included in Bharatmala Pariyojana.
Which of the statement/s given above is/are correct ?
Answer Options :

(1) Only a is correct (2) Both a and b are correct
(3) Only b is correct (4) None of the above
oA S S / SPACE FOR ROUGH WORK P.T.O.
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66. Wrefia faum feemua = :

3. seHREe ael A3 3 @ 7 f$8et 2013 91 Hraatia et SHUR gee= T9d
el doe Frel gl

9. wielt Ghat qefiet T8T IR 31 IEH AT IR gervasht deeia maq.
e Hor /dt e/ st s/ aRa ?

it IR :

(1) e 31 SO 3]

(2) %o § ST 3R

(3) QA 31 T g A

(4) T 31 T & S MR

Consider the following statements :

a. The Ninth World Trade Organisation’s Ministerial meeting was held in Bali,
Indonesia during 3 to 7 December 2013.

b. The main agreements in the Bali package were related to food subsidies and
trade facilitation.

Which of the statement/s given above is/are correct ?
Answer Options :

(1) Only a is correct

(2) Only b is correct

(3) Both a and b are incorrect

(4) Both a and b are correct

ol HMTEISI W / SPACE FOR ROUGH WORK
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67. Shuads Hiv Sfemm SRa 3T e 3Tg ?
(1) TR Tl Sheed
(2) T wuEiie sfead
(3) el Sfead
(4) Tt Sfead

Which model of GST has been introduced in India ?
(1) National Level GST

(2) State Level GST

(3) Dual GST

(4) Integrated GST

68. TESIEH ITHA AU 2008-09 TAR 125 HidSHh ST SUHATT hoiedl T-GediehTe
JER_ 3 YHIRE S .

47 IP B

35 §Y AT,

25 FHIYTHRES M 18 e,

. 25 =TTt 3T 18 ST,

Tt W

(1) s, samrs (2 F, e (3) W HIMES (4 A, w3

W 8 oA g

According to the Public Enterprises Survey 2008-09 on the basis of the
self-evaluation by 125 Public Sector Enterprises

a. 47 were rated excellent.
b. 35 very good.
c. 25 satisfactory and 18 fair.

d. 25 good and 18 fair.
Answer Options :
(1) a,bandec (2) a,bandd (3) b,candd (4) a,candd

THoeAl HIFHERE! AN / SPACE FOR ROUGH WORK P.T.O.
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69. TE M JaT HUd HIVI HL 3T hed TR ?
A, IFEHR P
. 3IF B
%. Hedardd .
5. QAT W
qarft IW
(1) 3 % (2) 3, & M * Ferd
(3) 31, & M € B (4) & %

Which taxes are subsumed under GST (Goods and Services Tax) ?

a. Excise duties.

b. Income tax.

c. Value added tax.
Service tax.

Answer Options :

(1) aonly (2) a,bandconly
(3) a,canddonly (4) Db only
70. 7y Frjaavs &1 vieg ufeier ST e

(1) 3rdgwed 1991-92

(2) 3IdEweT 1990-91

(3) 3aiw argEesded 1991

(4) 3iaiE rdEseT 1992

The term ‘disinvestment’ was used for first time in
(1) Budget 1991-92

(2) Budget 1990-91

(3) Interim Budget 1991
(4) Interim Budget 1992

THoedl HIUHIS! 9T / SPACE FOR ROUGH WORK
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F. A ANTE(T SgIEiE H

¥, WO ANIEIS FHR FHR

F. IS T HuSaiel HR

T, AR Sifgsh Aemmr H

i I

(1) Hhaes 3T AT F (2) %oz« 3T g
(3) haes 3T, § AT © (4) =l ad

Which of the following agreements comes under World Trade Organisation ?
a. Multilateral Agreements on Trade in goods.
b. General Agreement on Trade in Services.
c. Agreements on Textiles and Clothing.
d. Agreement on Trade Related Intellectual Property (TRIPs).

Answer Options :

(1) Onlyaandc (2) Onlybandd
(3) Onlya,bandd (4) All of the above

72. YRA GhRA ThReTen Tu i ferieor srisward e THIEY Bl

H. 3Nl gegen

¥, facfig gawon

%. SHGERAN THRISH

3. WErTs fEEm
it 3w

(1) A, 9 anfr =% (2) A, % Mg
(3) A, Famfre (4) «, ®amfe

The Macroeconomic Stabilisation Programme adopted by the Government of
India consist of

a. Industrial deregulation

b. Fiscal correction

¢. Balance of Payments adjustment
d. Control of inflation

Answer Options :
(1) a,bandc (2) a,candd
(3) a,bandd (4) b,candd
ool HIHMIS AR / SPACE FOR ROUGH WORK P.T.O.
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73. IR HRIE, 1969 TG HEA wWHl HE, 2002 I Seerer 9 al e @A
HOITE AT
(1) 1 "<« 2002 (2) 1 "< 2005
(3) 1¥< 2007 (4) 1 "< 2009

MRTP Act, 1969 was repealed and replaced by the Competition Act, 2002

which is implemented with effect from
(1) September 1, 2002 (2) September 1, 2005

(3) September 1, 2007 (4) September 1, 2009

74. Qe fSum fo=mE o
¥, SuEd gd USAmHed TR R YOIl 31U,
%, WRAH The SHeedl Aied &R 3.

et Hvra /& faam /A a9 ame/a @

I IW
(1) 3 (2) 3 T *
(3) & a3 (4) O o

Consider the following statements :
a. VAT rates and regulations differ from state to state.
b. GST brings in uniform tax system across all the states.
c. India has adopted the single GST model.
Which of the statement/s given above is/are correct ?
Answer Options :
(1) aandb (2) aandc
(3) bandc (4) All of the above

ool RMTETS! T / SPACE FOR ROUGH WORK
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75. @refier foem feama e
. don aEt T 1999 79 F6H frjgaves frvm d@R e
¥. 2001 wed Frjqaues fovm qui waee 9.

el v/t faum /A 9 sRa ¢

gt I
(1) ez A @) FaBd
(3) A= anfrw (4) O AT

Consider the following statements :

a. Government of PM Vajpayee created new department of disinvestment
in 1999.

b. Department of disinvestment became a full Ministry in 2001.
Which of the statement/s given above is/are correct ?
Answer Options :
(1) Onlya (2) Onlyb
(3) Bothaandb (4) None of the above

76. I SR HEEAER a8 2020 7Y Wi S Frtaerme snfir smrier steraerme
STTferes ShHETi JT5HN WictcTdeh! IVl SHHTRIEL BT ?

(1) fuia w12, ARE@ FR 7 @) f=fa % 30, 3@ H9 5
8) frafa w21, s w9 14 (4) Tfa swa 41, 3w w0 21

As per WTO what was India’s ranking in the world merchandise exports and in
the world merchandise imports for the year 2020, among the world exporters and

importers respectively ?
(1) Export rank 12, Import rank 7 (2) Export rank 30, Import rank 5

(3) Export rank 21, Import rank 14  (4) Export rank 41, Import rank 21

HeeHl HHTEG! 9T / SPACE FOR ROUGH WORK P.T.O.
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77. T 900 fasg stee=a (BRICS WBA) Gewidict qéier faum s,
3. IA-2020 7Y ARHAUO IUHATEH GEAT.
q. IO A Wehed AT AT AR IJeerhiea] SEETe feauae 1 areHT o
forra 2aicfter feuafia sxmawren =eFT 20 & @ Sew AR,
%. foow quidier 25 wieen S @ 9uEy IR,
T W
(1) 3, § 7M1 % UK HARA
(2) 3 3NN § Her SIS 3R
(3) « 31 &% et SUST 3R
(4) 1 3 % Hed S AR
Read the following statements related to BRICS Women’s Business Alliances
(BRICS WBA).
a. Officially launched its activities in July 2020.

b. It aims to faster bilateral trade between BRICS countries by identifying
projects of mutual benefits and unlocking opportunities for advancing business

interests of women entrepreneurs.
c. It comprises 25 women leaders from BRICS countries.
Answer Options :
(1) a, b and c are correct
(2) a and b only are correct
(3) b and c only are correct

(4) a and c only are correct

THeeAl HIHTET S / SPACE FOR ROUGH WORK
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78. faceft =mm dwor 2015-2020 3FrTa G& ATET STEA DIV AT TG WA
Fan Fata’ e ge oA et ?
(1) %I Yigse TSHT
(2) e foTng wihe Wi AT
(3) e B Fhea A
(4) I T A
Which of the following scheme was replaced by the Services Exports from India
Scheme (SEIS) under Foreign Trade Policy 2015-2020 ?
(1) Focus Product Scheme
(2) Market Linked Focus Product Scheme
(3) Served from India Scheme
(4) Focus Market Scheme

79. U3 IO 9ON AT (VDIS) — A% SRR g 3A7edl.
(1) 1993-94 (2) 1995-96 (3) 1997-98 (4) 1999-2000

The Voluntary Disclosure of Income Scheme (VDIS) was announced in
(1) 1993-94 (2) 1995-96 (3) 1997-98 (4) 1999-2000

80. Weltedehl HIvTAT STTTehIsRoTeT ey ATdl ?
(1) gemeumefie sty Fefy FH wo
(2) RIALD WigTaT= o TR
(3) TN G AR
(4) fafew Semmed swT=T g HER A
Which of the following is not the parameter of the globalisation ?
(1) Reduction of trade barriers among the nation-states
(2) Free flow of capital among the nation-states
(3) Free flow of technology

(4) Not free movement of labour in different countries

TSI HIMES! A / SPACE FOR ROUGH WORK BT.0.
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81. WRATET SARA Wigdel! Qe e FATSN BT
G |
¥, fom
®. T H dal
g, foesft qoave
T IW
() F,gamfrs (@) F,waAMg (3 «FwNUE (4 e ad
Capital account of balance of payments of India consist of
a. Loans
b. Insurance
c¢. Rupee debt service
d. Foreign investment
Answer Options :

(1) a,bandc (2) a,candd (3) b,candd (4) All of the above

82. 2020-21 a1 Hretaefia wrard 92 faesft TaavpEhan 3aw frewr 3aten I w9 (wievht) +U.
H. TR
q. IAqEA
*. qUHM
€. TIUh |aEl
gt IW :
(1) 3,9, FAVS (2 4,8, 7O H
(3 ®, 3 AT (4) 3,9, 31 T H

Arrange in the descending order of following industry-wise inflows of foreign direct
investment to India during 2020-21.

a. Transport

b. Manufacturing

c. Construction

d. Computer services

Answer Options :
(1) a,b,candd (2) b,d,aandc
B) c¢,d,aandb (4) d,b,a,andc

THeeH] HIHMEE! AN / SPACE FOR ROUGH WORK
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83. Wil faam fo=ama = \
. WTO =i <greft weiata aftwe e 39 smaifsa woam ameh 2.

¥, WTO =t srua wiadia aftye 3emfimn 38 s wward et gidt.
Tl Hv /dt faem /2 st R/ ?

it I
(1) *de 3 TV AR (2) Has ¥ T IR
(3) argt 31 3nfor ¥ s 3mRa (4) aliersht AT

Consider the following statements :

a. The WTO’s Tenth Ministerial Conference was held in Kenya.

b. The WTO’s Eleventh Ministerial Conference was held in Indonesia.
Which of the statement/s given above is/are correct ?

Answer Options :

(1) Only a is correct (2) Only b is correct
(3) Both a and b are correct (49) None of the above

84. Wit ferama faama = .

A, 2021-22 TrH efern anfor @id snfern awaren giferem fatdadt areem
T e shHThRTE Fata Aidt Rt faewmr st s,

¥ 2021-22 7 wRaren T FRiditd agiferm, ae snfor smor feridn awer 16.0

T Bl
FhEUhI HIvia /it faum /7 geheh sme/a ¢
D e
(1) Wed 31 I 38 (2) wa ¥ T IR
(3) < 3 MM § [ AR (4) e e

Consider the following statements :
a. During 2021-22 Australia and Saudi Arabia have become the fifth and seventh
largest export destinations for India’s petroleum exports.

b. Petroleum, oil and lubricants exports accounted for 16.0 percent of India’s
total exports during 2021-22.

Which of the statement/s given above is/are incorrect ?
Answer Options :

(1) Only a is incorrect (2) Only b is incorrect
(3) Both a and b are incorrect (4) None of the above
Tl HHEG SN / SPACE FOR ROUGH WORK P9,
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85. e el
el festean ad 2020-21 wefiet, 97 WhR TAauE JaTg Thitd HOHT & (Fa9 ‘31°) 31T
1 ST U A TR TAEURhidie aTeT (TW F') ISt An S .

(8)
. TIUH FRAI M FEAIN
¥, WRUMS (Automobile) JET &
. 4T e
T. =NR (Trading) 84
i IW :

A o *h =
@ i @ i v
2) iv 1 11 i
@) i iv i ii
(4) i v 1

Match the following.

48

1.

111.

Z17

W "
(zrhadl)
2.7

4.4

8.5

43.8

Match the sectors attracting the foreign direct investment (equity) inflows given
in Column ‘A’ with their percentage share in total foreign direct investment equity

inflows given in Column ‘B’ for the year 2020-21.
Column ‘B’

a.

b. Automobile industry

c. Services sector

d. Trading sector
Answer Options :

a b c d

1 1 i i iv
2 iv i mooi
3 i v i i
4 i 1 v i

Column ‘A’

(Sector)

Computer software and hardware 1.

il.
1.

1v.

(%)
29
4.4
8.5
43.8

THEeH1 HIATHTS AR / SPACE FOR ROUGH WORK
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86. @l foum fomma =
. UHARETH HEE 5 I, 2004 TET A0 S
¥, UHINETH HEE hg TERRK AT TS GLHTAT SUHTE 3.
Fierht /4 faum /A st smR/a ?
gt SW
(1) Has 3 S AR
(2) Q= 3 T F TU&T 1A
(3) 9 ¥ SO IR
(4) sl

Consider the following statements :

a. The FRBM Act became effective from July 5, 2004.

b. The FRBM Act is mandatory for the Central Government and State
Governments.

Which of the statement/s given above is /are correct ?

Answer Options :

(1) Only a is correct

(2) Both a and b are correct
(3) Only b is correct

(4) None of the above

FHoedl HIUTEE! AR / SPACE FOR ROUGH WORK P.T.O.
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. U FedT 275 RN 282 e - FEHTET S Gt .
9. FTSE 275 WA FGH HIVCATE! HraTeh Ieemaret TSIl fest .
%, ITSE 282 i FEH TSI T W e et W,
TR hivr/dt faem /A Im 3R/ ?

i I
(1) a4 31 3nfr & A amRa (2) Fas N AT MR
(3) Has F A IR (4) afed oe

Consider the following statements :

a. Articles 275 and 282 of the Constitution deal with the question of grants-in-aid.
b. Grants under Article 275 are given to the states for any public purpose.

c¢. Grants under Article 282 are given to the states in “need of assistance”.

Which of the statement/s given above is/are correct ?

Answer Options :

88.

(1) Both a and c are correct (2) Only a is correct

(3) Only cis correct (4) All of the above
_____ TYd I I 991 hedHal e ¢ W B,

(1) wEgeh e (2) ™R

(3) TSI G (4) IrfdsedT q2

Primary deficit is obtained by deducting interest payment from the
(1) Revenue deficit (2) Monetised deficit

(3) Fiscal deficit (4) Budgetary deficit

oAl MG SR / SPACE FOR ROUGH WORK
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;9.. fora s areft RrerE Foieh Bt A 2011 =1 SFUHEN AHETETER

TSI 3FGH o1,

(1) veren (2) e

(3) Hraren (4) e

Finance Commission recommended that grants should be

distributed to states as per population of 2011 census.
(1) Fifteenth (2) Fourteenth

(3) Sixteenth (4) Thirteenth

90. 15 = fomr =T Rrerefigar yEetsh! e TmEr 2021-22 @ 2025-26 1 Hra@dd

HET FOHE TR T WA 7

(1) HERTS;

(2) wea e

(3) Y ¥ew

(4) I TN

As per the 15" Finance Commission recommendations which of the following
State will have highest share in Central Taxes during 2021-22 to 2025-26 ?

(1) Maharashtra

(2) Madhya Pradesh

(3) Andhra Pradesh

(4) Uttar Pradesh

THeAT HHTETE AR / SPACE FOR ROUGH WORK P.T.O.
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91.

52

frenier anfor amsemm Tt wiftmeien T Eai=T TN faw gfon w= e ?
1. feoreamaur aftomm

q. @ AT wehr gy

%, qgrEeft giomy

8. hgieRtul gions,

Tt IW

(1) 31, 93 (2) 1, % TS

3) ¥, Fars (4) et gd

217

What are the resulting effects of growth of public expenditure stated by Peacock

and Wiseman ?

a. Displacement effect

b. Deepening and widening effect

¢. Inspection effect

d. Concentration effect.

Answer Options :

(1) a,bandc (2) a,candd

(3) b,candd (4) All of the above

92.

wrefte faum formma =
3. aredEehed 2021-22 TEY 13 BATEE! TS ToTH WeaTe JoHl T hefl.

¥, AN AT 2022-23 T 5 TEAT HIATHETE! AN HOATd AT
et v/t faem/ am ama ¢

I I
(1) ad § 9T 32 (2) = 3 i ¥ T I”A
(3) ®H I AW AR (4) St AT

Consider the following statements :

a. Budget 2021-22 launched Production Linked Incentive Schemes for 13
Sectors.

b. PLI Scheme is for a period of 5 years starting from 2022-23.

Which of the statement/s given above is/are correct ?

Answer Options :

(1) Only b is correct (2) Both a and b are correct

(3) Only a is correct (4) None of the above

el HIHETE! S / SPACE FOR ROUGH WORK
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93. Weliciyeh! SHIVIT ATER LT SCTATE] HIE AT ?
A wIA
9. oorft
. S Y
8.
010 s £

(1) e 3 (2) ¥+
(3) aMhI A (4) et od

Which of the following are non-tax revenue sources ?
a. Loan

b. Donation

c. Stamp-duty

717

d. Fee.

Answer Options :

(1) Only a (2) bandc

(3) None of these (4) All of the above

94. Wiefieiieh! Teae E HITA MR 7
A, U W
o, I R
%, FEEdT W
3. ST 8 R
oift S
(1) e 3 (2 wHR o (3 Famfrs
Which of the following are direct-taxes ?
a. Wealth tax
b. Income tax
c. Tax on vehicle
d. Goods and Services Tax.

Answer Options :
(1) Onlya (2) Onlyb (83) aandb

(4) =lerieht ge

(4) All of the above

FHoA HHEES W / SPACE FOR ROUGH WORK
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95. YA refdshearan ST HERISd HEY HOAT T

54

(1) 1980 (2) 1982 (3) 1984 (4) 1986
Zero based budget was used in Maharashtra in
(1) 1980 (2) 1982 (3) 1984 (4) 1986

7217

96.

2019-20 TOAW THI N AEGATA Hewia @iefiet faum feeama e
H. IOAE(A HAEHSS HUTET HH B

q. TEHES HUYET T M FA1 H S Bl

Tl v/t fem/S Qm s/ ?

qaiEft W

(1) < 21 anfor & 9 R (2) Hes § Y AR
(3) Hu® H A IR (4) FheEsht ATE

Consider the following statements in the context of Gross Tax Revenue during

2019-20 :

a. Taxes on income were lower than corporation tax.

b. Goods and Service Tax was higher than corporation tax.
Which of the statement/s given above is/are correct ?

Answer Options :

(1) Both a and b are correct (2) Only b is correct
(3) Only a is correct (4) None of the above

97.

T Ul QNTEeNid @iefier faum fe=ma i ¢

9. WIH R TEd M [AaUEhETd! Tiears HH .
iRt o/t faem/3 9w am/a

T I
(1) Haa 31 I IR (2) hae & IY IR
(3) A 31 anfor & 9w amRd (4) e T

Consider the following statements in the context of demerits of direct taxes :
a. Direct taxes may reduce supply of work effort.

b. Direct tax reduce incentive to save and invest.

Which of the statement/s given above is/are correct ?

Answer Options :

(1) Only a is correct (2) Only b is correct

(3) Both a and b are correct (4) None of the above

FHoed] SIS ST / SPACE FOR ROUGH WORK
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98. AT Y T9 AeuarE Il TgE HRO S ?

. TTEEhE FFurE ferm

q. U e 916

®. AREAEA 96

. fhua s 91 .

T TN

(1) o A (2) wH®
(3) & Mg (4) et gd

Which of these are the main reasons for increasing public expenditure in India ?

Extension of administrative mechanism

a
b. Increase in national income
c. Population growth

d

Increase in price level.

Answer Options :
(1) Onlya (2) Onlyc
(3) candd (4) All of the above
99. Myl riagr= Ta ‘“HrEsIS Herar YR R Uz,
(1) e fd (2) et frdt
(8) et foht (4) =Y AT
According to modern economists “The burden of public debt lies on 7
(1) Present generation (2) Past generation
(3) Future generation (4) None of these
100. 1997-98 URE géran 3 fewmn o uredt ford d% ey I feen St <
Td ¢ =V JAsEd .
(1) st (2) weEged
(3) TSHINE (4) wrsIe
Part of deficit provided by the RBI to the government is known as a
monetised deficit since 1997-98.
(1) Primary (2) Revenue
(3) Fiscal (4) Capital
oAl TFMEES SO / SPACE FOR ROUGH WORK P.T.O.
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©® wyfsne fafea e fafise srie +=2 om (@ 9) sua. wgfasertaie sawferet @
FA HPIGER FHod HH HedATd d Hidl HOATSAT I Hel IR, 3 THSA gl I TR IAITRTSH
WA ST Sheted wliamed gom=a T faay s ST -82" ATdie Wgeigar
HRATS HUITT I5e 9 S} SRt HHTS Teh TTTAT HIETETAT 1107/ Fha T T FI AT ST
fogw o= e

(9) T TBERETE! 3T fafed Fetelt 92 GueaHat SUSHIST & R R Tad: siiek Tt HETaTet
U3 SUATE AT TR, A G BTt Soargei SHGarR AT STUFe WRT-1 A gEThS
= foreran wa w0 EvEE AR,

s GLSES
¥.%. 201. Gl SIS T HOAETS! DIV Hord: TFA el ?
(1) @ gErg T (2) Faag e
(3) T THAIET T (4) TMUTSFH TrEet
T I A I C(3) T THAE T 3@ 3. g A1 W9 W (3)”
B, AT WIEAATAT T 3. 201 TS ISR-w “(B)” 7 Ige o
BHfhd HEA A0 WS 2.

.%21. @O @ @ @
I TG T IAYfEehdiel Weh SRS qHET ST-3hHTh 81 QeI Saadiean

e IaEbaiel 1 & THA-asEaie Fefta 9ge QUi SEifhd e
TTEETE]. TERRAT Fa el TS SicTuA ST, Ut o yige oe a3,

FHeeHl HAMEIE! RN / SPACE FOR ROUGH WORK




